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BEANRK SH7TEEBREE T EILERE
2 o] 1B - Bkt Bif i ¢ @ =
EEIEE 5,313,182
FELERE 5,313,182
EEBEHRE 3,264,913
BEEXE 2,773, 347
AEE 633, 538
1 AEERG 1.00 363, 903 363, 903
=
2 BB 1.00 15, 922 15, 922
%
3 HHER QEELY) wEE 1.00 91,214 91,214
=
4 HHER QEELY) EE 1.00 162, 499 162, 499
=
HihAE 2,139, 809
5 IREFAE (SR 5.00 189, 841 949, 205
=
6 KRAE 1.00 1,190, 604 1,190, 604
=
EEEE 491,566
W& -WE 291, 600
1 EHRE 1.00 107, 300 107, 300
=
8 thifisRE 1.00 107, 300 107, 300
Al




BEANRK SH7TEEBREE T EILERE
2 o] 1B - Bk Bif B i ] B

9 EIRIE 1.00 71,000 717,000

=
TZeE 161, 406
10 REEHMRK 1.00 161, 406 161, 406

=
RE 13, 560
1 k& 1.00 13, 560 13, 560

=
A& 25,000
12 2BRER (RIEEZ) 1.00 25, 000 25, 000

=
RAEREE 2,048, 269
RAEREE 1, 989, 269
AT 1,092,097
13 ECERFEAT 1.00 1,092,097 1,092,097

=
A& 897,172
14 S|HEZER 1.00 897,172 897,172

=
EEEE 59, 000
A& 14, 000
15 EHEBRER GAERE) 1.00 14, 000 14, 000

%




BEANRE

FH7EEBFHEYNZELERE
% L] R - RARSTiE BfL 2 fif # IS
EIREE 45, 000
16 EIHAEE 1.00 45, 000 45, 000
=




MR SH7TEEBRBENEERERE
2 # 1B - MR B g 1 & # =

EENEE 3,309,913
HRE 3,300,913 x 81.7% — 4,111 2,700, 087
AEEEE 3,309,913 + 2,700,087 6,010, 000
BRI 1,837,940 + 165,329 2,003, 269
EEAGE 1,837, 940
EERE 165, 329
T DR 1,837,940 x 53.85% ( 35% + (1 — 35%)) 989, 730
RHRIE 2,003,269 + 989, 730 2,992, 999
—REERF 2,992,999 x 53.85% (35% =+ (1 — 35%) ) — 4,728 1,607, 001
RERER 2,992,999 + 1,607, 001 4, 600, 000
IS E TS 6,010,000 + 4, 600, 000 10, 610, 000
HEREELE 10,610,000 x 10.00% 1,061,000
AEEHEE 10,610,000 + 1,061,000 11, 671,000




REAR-FET/vr—> ANTEEGEEENEENERE
&5 1
LF  MEER B
2 s 1BIE - AR B g N FT W = w =
BIE AR
A 2.00 60, 600. 00 121, 200
B HED
A 3.00 52, 300. 00 156, 900
AR
A 2.00 41,100. 00 82, 200
HHH 2HE0%
% 1.00 360, 300. 00 3,603
= H YEZEREN - 1. 00X 363, 903. 00 363, 903
£S5 2
L% BE ——
2 s 1BIE - AR B g N FT W = w =
REE 5S4 kN2 2L
B 0.10 3, 658. 00 365/2.00H / 8H
BIE IR
A 0.10 60, 600. 00 6, 060
B HED
A 0.10 52, 300. 00 5,230
AR
A 0.10 41,100. 00 4,110
HHH 2HE0%
% 1.00 15, 765. 00 157
= B YEZEREN 1. 00X 15,922. 00 15,922
£S5 :3
B HAHER QEENY)  RBE =ED)
2 s 1BIE - AR B 2 N Fr W = w =
MERHE
A 2.00 28, 700. 00 57, 400
HHH 2HE0%
% 1.00 90, 311. 00 903
kSwd 2ti&
B 1.00 32,911.00 32,911/4.70H / 8H
= it YEZERES ;- 1.00[E] 91,214.00 91,214




REAR-FET/vr—> ANTEEGEEENEENERE
S .4
B HAHER QEENY) KB =ED)
2 s 1BIE - AR B g N FT W = w =
R
A 2.00 41,100. 00 82, 200
MEEHE
A 1.00 28, 700. 00 28,700
HL—oft kS uh AtTE 2tR
B 0.50 43, 483. 00 21,741/5.80H / 8H
STFL—vh L— BEHRANER)  CHEMES JR) 25tH
B 0.50 56, 500. 00 28, 250 |8H
HHH 2HE0%
% 1.00 160, 891. 00 1,608
= H YEZERES ;- 1.00[E 162, 499. 00 162, 499
£S5
&% FURE (ERRE) =E)
2 s 1BIE - AR B g N FT w = w =
B A
A 1.50 52, 300. 00 78, 450
MR REA
A 1.50 41,100. 00 61, 650
REILRNILET
B 7.00 5,000. 00 35, 000
REE 5S4 kN2 2L
B 0.20 3, 658. 00 731/2.00H / 8H
HHH EEAGEDY
% 10.00 140, 100. 00 14,010
= B YEZERES ;- 1.00[m 189, 841. 00 189, 841




Rtz -/ \v7r—o

TH7EEBFRED

EERE

EFS .6
&% KBRAE 1EHY
2 b g - BIRTE B = B i % B = " =
Bl HAm
A 0.50 52, 300. 00 26, 150
Bl S H A
A 0.50 41,100. 00 20, 550
BIZBF
A 1.50 34, 900. 00 52,350
BIEWHENE
A 1.00 28, 700. 00 28, 700
KaitER
= 1.00 840, 000. 00 840, 000
REE 5S4 kY 2L
=] 0.50 3, 658. 00 1,829/2.00H / 8H
Bkt D 270PS%E! 3~5tfHm
=] 1.00 193, 261. 00 193, 261 8H
MR 2K CEEEtEHLN) D%
% 8. 60 322, 840. 00 217,764
& B 1EZAES - 1.00[E 1,190, 604. 00 1,190, 604
&5 .1
¥ . BATE 1EHY
2 b g - BIRTE B = B i % = " =
BIEFEHEM
A 1.00 60, 600. 00 60, 600
Bl HAm
A 0.50 52, 300. 00 26, 150
Bl EH A
A 0.50 41, 100. 00 20, 550
& Hi 1EZAER - 1.00[E 107, 300. 00 107, 300




REAR-FET/vr—> ANTEEGEEENEENERE
£S5 :8
&% RS =ED)
2 # 1BIE - AR B g N & @ w o= ® =
BIE AR
A 1.00 60, 600. 00 60, 600
B HED
A 0.50 52, 300. 00 26, 150
AR
A 0.50 41,100. 00 20, 550
= it YEZERES ;- 1.00[m 107, 300. 00 107, 300
£S5 :9
B RIS =E)
2 # 1BIE - AR B g N & =@ w o= i =
B8 IR
A 0.50 60, 600. 00 30, 300
B A
A 0.50 52, 300. 00 26, 150
MR REA
A 0.50 41,100. 00 20, 550
= it YEZERES ;- 1.00[E 717, 000. 00 717,000
&5 :10
LF . REBEM 13ty
2 # 1BIE - AR B 2 N ¢ @ w o= ® =
ZEEWRMNR FRP D 180PS%H!
B 1.00 160, 603. 00 160, 603 6. 00H / 8H
HHE 2HE0%
% 0.50 160, 603. 00 803
= B YEZEREN 1. 00X 161, 406. 00 161, 406




REAR-FET/vr—> ANTEEGEEENEENERE
51
LF B B
2 s 1BIE - AR B g N FT w =
e
= 1.00 13, 560. 00 13,560
= H YEZEREN - 1. 00X 13, 560. 00 13,560
&5 :12
G XERER  CHEHER) EE)
2 s 1BIE - AR B 2 ' % w =
LHHERE
= 1.00 25, 000. 00 25, 000
= it YEZERED 1. 00X 25, 000. 00 25, 000
&5 13
G SRR B
2 s 1BIE - AR B 2 ' Fr w =
¥ {EHRER (R
A 2.00 66, 900. 00 133, 800
BEF (A)
A 2.00 59, 600. 00 119, 200
HEn (B)
A 8.70 48, 500. 00 421, 950
HEF (C)
A 1.80 40, 300. 00 72,540
Biia
A 5.60 36, 100. 00 202, 160
TEE EEAGEDY
% 5.00 949, 650. 00 47, 482
BiITEERE EEAGEDY
% 10.00 949, 650. 00 94, 965
= it YEZERED 1. 00X 1,092, 097. 00 1,092, 097




REAR-FET/vr—> ANTEEGEEENEENERE
&5 :14
B BEEER B
2 s 1BIE - AR B g B ff FT w =
LR (3BED)
A 4.00 66, 900. 00 267, 600
HEn (B)
A 12.50 48, 500. 00 606, 250
Biia
A 0.40 36, 100. 00 14, 440
EBRARE EEAGEDY
% 1.00 888, 290. 00 8, 882
= H YEZEREN - 1. 00X 897,172.00 897,172
&5 :15
&% EBRER  CUERAD) B
2 s 1BIE - AR B g B ff FT w =
LHHERE
= 1.00 14, 000. 00 14, 000
= it YEZERED 1. 00X 14, 000. 00 14, 000
ES : 16
2% IAES B
2 s 1BIE - AR B 2 B ff Fr w =
EZRYVTRE
= 1.00 45, 000. 00 45, 000
= it YEZEREN 1. 00X 45, 000. 00 45, 000




